
7670 7670.5 7671 7671.5 7672
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

5

5.2

5.4

5.6

5.8

6

6.2

6.4

6.6

6.8

7

7.2

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

0.5−

0

0.5

1

1.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

7005

7005.5

7006

7006.5

7007

7007.5

7008

7008.5

7009

ru
n

run:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7007}



7670 7670.5 7671 7671.5 7672
cyclenum

129.8−

129.6−

129.4−

129.2−

129−

128.8−

128.6−

128.4−

128.2−

128−

127.8−

127.6−

us
l_

1X

usl_1X:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

2.8−

2.6−

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

us
l_

4a
Y

usl_4aY:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

58

58.5

59

59.5

60

us
l_

4e
X

usl_4eX:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

21.2

21.4

21.6

21.8

22

22.2

22.4

22.6

22.8

23

23.2

23.4

us
l_

4e
Y

usl_4eY:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

42.4−

42.2−

42−

41.8−

41.6−

41.4−

41.2−

41−

40.8−

40.6−

40.4−

40.2−

us
l_

12
X

usl_12X:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

7005

7005.5

7006

7006.5

7007

7007.5

7008

7008.5

7009

ru
n

run:cyclenum {run == 7007}



7670 7670.5 7671 7671.5 7672
cyclenum

141−

140.5−

140−

139.5−

139−us
r_

1X

usr_1X:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

1−

0.5−

0

0.5

1

us
r_

4a
Y

usr_4aY:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

192.5

193

193.5

194

194.5

us
r_

4e
X

usr_4eX:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

15

15.2

15.4

15.6

15.8

16

16.2

16.4

16.6

16.8

17

17.2

us
r_

4e
Y

usr_4eY:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

38−

37.5−

37−

36.5−

36−

us
r_

12
X

usr_12X:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

7005

7005.5

7006

7006.5

7007

7007.5

7008

7008.5

7009

ru
n

run:cyclenum {run == 7007}



7670 7670.5 7671 7671.5 7672
cyclenum

35269

35269.5

35270

35270.5

35271

us
l_

co
il1

usl_coil1:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

7058

7058.5

7059

7059.5

7060

us
l_

co
il3

usl_coil3:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

4297

4297.5

4298

4298.5

4299

us
l_

co
il4

usl_coil4:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

1067.5−

1067−

1066.5−

1066−

1065.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

16232.5

16233

16233.5

16234

16234.5

us
l_

co
il7

usl_coil7:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

7005

7005.5

7006

7006.5

7007

7007.5

7008

7008.5

7009

ru
n

run:cyclenum {run == 7007}



7670 7670.5 7671 7671.5 7672
cyclenum

31276.5−

31276−

31275.5−

31275−

31274.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

6099.5−

6099−

6098.5−

6098−

6097.5−us
r_

co
il3

usr_coil3:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

3838

3838.2

3838.4

3838.6

3838.8

3839

3839.2

3839.4

3839.6

3839.8

3840

3840.2

us
r_

co
il4

usr_coil4:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

79.5−

79−

78.5−

78−

77.5−us
r_

co
il6

usr_coil6:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

17109

17109.5

17110

17110.5

17111

us
r_

co
il7

usr_coil7:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

7005

7005.5

7006

7006.5

7007

7007.5

7008

7008.5

7009

ru
n

run:cyclenum {run == 7007}



7670 7670.5 7671 7671.5 7672
cyclenum

438.5−

438−

437.5−

437−

436.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

74.8−

74.6−

74.4−

74.2−

74−

73.8−

73.6−

73.4−

73.2−

73−

72.8−

72.6−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

19

19.5

20

20.5

21

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

525−

524.5−

524−

523.5−

523−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

102.4−

102.2−

102−

101.8−

101.6−

101.4−

101.2−

101−

100.8−

100.6−

100.4−

100.2−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

20

20.5

21

21.5

22

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7007}



7670 7670.5 7671 7671.5 7672
cyclenum

167

167.5

168

168.5

169

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

54.5

55

55.5

56

56.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

11.5−

11−

10.5−

10−

9.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

180

180.5

181

181.5

182

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

12.5−

12−

11.5−

11−

10.5−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

10−

9.5−

9−

8.5−

8−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7007}



7670 7670.5 7671 7671.5 7672
cyclenum

237−

236.5−

236−

235.5−

235−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

84.5−

84−

83.5−

83−

82.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

4.5−

4−

3.5−

3−

2.5−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

5

5.5

6

6.5

7

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

431.8−

431.6−

431.4−

431.2−

431−

430.8−

430.6−

430.4−

430.2−

430−

429.8−

429.6−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7007}

7670 7670.5 7671 7671.5 7672
cyclenum

7005

7005.5

7006

7006.5

7007

7007.5

7008

7008.5

7009

ru
n

run:cyclenum {run == 7007}
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